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Model Paper, July 2019
Class: IV
Subject : English
NAME -eceinnrriiierennreiencrencennenns ROIINO. ccevnrireieiinerererencennens
CIRBEA o siinniminis suimsanssanumases DIALE » s vrciiviriniisiisssesatommsese
Time: 172 Hr. Total Marks: 40

I. A. Read the passage carefully and answer the following questions: -

Once there was a king. He had three sons. He called his sons and gave a gold
coin to each of them. He asked them to bring such things with the gold coin that
can cover the whole space of a big room. The first son bought cotton. The second
son bought grapes while the third son lighted the candles in a dark room. The
whole room was filled with light. (2X2=4)

c. What did the king give to his sons?

---------------------------------------------------------------------------------------------------------------------------

-----------------------------------------------------------------------------------------------------------------------------

X. B. Write True or False for the following statements: - (2X1=2)

i. The second son bought cotton.

ii. The grapes covered the whole space.

Il. Read the following questions and choose the correct option. (8X1=8)
1. Opposite of ‘new’ is:
b. dull b. old c. fresh d. none of them

2. Choose the correct spelling.
b. sucess b. succes C. success d. sucese

3. Choose the odd one out.
a. truck b. jeep c. ship d. bus

4. One of the following word is hidden in the grid. Encircle it.

(i) walk (ii) write (iii) read (iv) bath
alglb|t|r
ni(flp k|l
wilalk || [m
blr|le |a]|d
wlalg |t|r




Il.

V.

5. Choose the incorrect option.
‘The king was very pleased with the third son’. In this sentence king is

a. sad b. angry c. happy d. excited

6. Choose the correct sentence.
a. The king had four suns.
b. The king had far suns
c. The king had four son.
d. The king had four sons.

7. ‘They’ cannot be used for:
a. sons b. farmer c. youngsters d. ministers

8. Which of the following pair is incorrect?
a. pick-sick b. neck-pocket  c.rack-pack  d.lock-rock

Answer the following questions: - (4X2=8)
1. Who lent a helping hand to the farmer? (The farmer and the Bullock cart)

2. Who became the king? (The king and his sons)
3. Complete the series:
Monday, Tuesday, o ooy

4. Rearrange to make correct sentence:
The old was and farmer weak

. Underline the nouns in the following sentences. (3X1=3)

A

1. He s eating fresh vegetable.

2. The whole room was filled with light.

3. He decided to move on Sunday.

B. Encircle the pronouns in the following sentence (3X1=3)

1. All their efforts were of no use.
2. The king went to the big room with his sons.

3. It was light in weight.



6

v. Raju’s teacher asked him to make a list of the parts of body. Help him to make

this list. (4X1/2=2)
1. 2.
3. 4.
VI. Make sentences of the following words : (3X1=3)
1. farmer
2. king
3. market
VIl. Complete the following sentences about 'The Cow'. (4X1=4)

a) Thecowisa
b) It has
c) It gives us
d) The cow is a very

VIIl. Write three sentences about the given picture: (3X1=3)
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